W

Name:
house is 14 feet

ceds a ladder long enough. The
How long does

3. Chris is working on the coof of their house and he B
tall and to clear the barrels, the base of the ladder needs to b€ 7 feet from the house.
his ladder have 10 be to reach his roof?

c. 16.65

a. 14.65

b, 15.65

oof of their house and he needs a ladder long enough. The nouse is 14 feet
be 6 feet from the house. How long does

gonthet
e of the ladder needs to

o 74, Jamie is workin:
tall and to clear the barrels, the ba
his ladder have to be t0 reach his roof?

c. 1523
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re 105 meters. To separate the picnic aread from
e corners. Determine the approximate length of

Name:
25. A community is building a square
the play area, the park is splitby 2
the diagonal 1ine that splits the squ ur answer o the nearest

th sides that meast
m opposit
round yo

park wi
diagonal line fro
meter.

are. If necessary,

Picnic area

105m

Play arca

105m
148 meters

C.

ugh. The house is 10 feet
How long does

2. 210 meters
b. 105 meters
of their house and a ladder long eno
from the house.

26. Bobis working on the roof
tall and to clear the barrels, the base of the lad
be to reach his roof?

his ladder have to

he needs
der needs to be 6 feet

c. 12.66

2. 10.66
b, 11.66
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e

is building a square p

27. A community
the park is split bya

the play area,
the diagonal line t

Picnic area

Play area

70 m

a. 99 meters
b. 70 meters

A community is buil
the play area, the par
the diagonal line that split

23.

Picnic area
g
3
Play area
‘_,——‘—/'{
125m
a. 177 meters
b. 125 meters
79. A community is building a square park w
the play area, the park is split by a

the diagonal line that splits the square.

Picnic area

Play area

|__——’—‘—"|

85 m

a. 170 meters
b. 120 meters

ark with sides that measu
diagonal line from opposit

hat splits the square. If necessary, 10

ding a square park wi
k is splitby @ diagonal line from opposite corne

s the square. If necessary,

diagonal line from 0P

1D:

re 70 meters. To separate the p
e corners. Determine the approximate

und your answer 0 the nearest meter.

c. 140 meters

th sides that measure 125 meters. To separate the picnic

round your answer to the nearest meter.

c. ZSQ meters

ith sides that measure 85 meters. To separate the picni
posite corners. Determine the approxim

If necessary, round your answer to the nearest meter.

c. 85 meters
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rs. Determine the approximate len

A

icnic area from

length of

area from
gth of

¢ area from

ate length of




